

GWINNETT COUNTY DEPARTMENT OF FINANCIAL SERVICES PURCHASING DIVISION

75 Langley Drive | Lawrenceville, GA 30046-6935 O: 770.822.8720 | F: 770.822.8735 GwinnettCounty.com

September 5, 2023

AWARD NOTICE BL024-23 Purchase of Law Enforcement Duty Gear on an Annual Contract

Pursuant to the bids received on March 1, 2023 for BL024-23, Purchase of Law Enforcement Duty Gear on an Annual Contract the bid has been awarded to Body Armor Outlet, Clyde Armory, Inc., Dana Safety Supply, Inc., Federal Eastern International, LLC, Galls, LLC, GT Distributors, Inc., Helen Industres, Inc. dba DeSantis Holsters and Leather Goods, Lawmen's & Shooters' Supply, Inc., Primary Arms, LLC, Smyrna Police Distributors and USIQ, Inc., in the base bid amount of \$295,000.00. Please note the enclosed bid tabulation.

We appreciate your bid and interest in Gwinnett County.

Sincerely,

Chelsey Ward

Purchasing Associate II

CW/bc

Enclosure

				οι	Armor utlet OS)	Ir	Armory, nc. OC)	Supp	Safety y, Inc. L)	Internat	ıl Eastern ional, LLC OS)
ITEM #	DESCRIPTION	APP QT	ROX. Y.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
SECTIO	ON A - POLICE										
1	Safariland model 94 Leather Laminate Police gun belt, basketweave <u>without</u> <u>buckle</u> or equivalent	200	EA	\$62.73	\$12,546.00	N/B	\$0.00	\$61.64	\$12,328.00	\$57.00	\$11,400.00
2	Safariland model 90 Laminate handcuff case, basketweave, hidden snaps or equivalent	115	EA	\$29.38	\$3,378.70	N/B	\$0.00	\$29.86	\$3,433.90	\$26.00	\$2,990.00
3	Safariland model 62 Leather one (1) inch belt keepers DOT snaps, set of four (4) basketweave, hidden snaps or equivalent	160	EA	N/R	\$0.00	N/B	\$0.00	N/R	\$0.00	\$19.00	\$3,040.00
4	Laminate black glove pouch, basket weave, or equivalent	125	EA	N/B	\$0.00	N/B	\$0.00	\$17.83	\$2,228.75	\$18.00	\$2,250.00
5	Safariland model 99 Leather black basket weave trouser inner belt without buckle, Sizes 24-58, or equivalent	215	EA	\$33.52	\$7,206.80	N/B	\$0.00	\$36.57	\$7,862.55	\$30.00	\$6,450.00
11	Safariland model #6360 SLS Duty holster with Cantable universal belt loop for Glock 17 equipped with a Surefire X300U / Streamlight TRL1-HL weaponlight, STX tac black basketweave finish with ALS Guard part #6006 installed, No hood guard part #6000, 2.25 inch duty belt, or equivalent	100	EA	\$193.63	\$19,363.00	N/B	\$0.00	\$132.68	\$13,268.00	\$135.00	\$13,500.00
	Zero9 Holsters Traditional 9/40 Double Mag Case for Glock 17, double magazine pouch, Must have Tek-Lok buckle , basket weave, Item #Z9-4027-BW-TEK, or equivalent	100	EA	N/B	\$0.00	N/B	\$0.00	\$34.11	\$3,411.00	\$32.00	\$3,200.00
	Safariland model #6378 ALS concealment holster for Glock 17 equipped with a Surefire X300U / Streamlight TLR1-HL weaponlight, STX Finetac finish with paddle/belt loop combo, No hood guard part #6000, or equivalent	100	EA	N/B	\$0.00	N/B	\$0.00	\$66.34	\$6,634.00	\$53.00	\$5,300.00
9	26" expandable baton with foam handle, F26C silver/chrome, or equivalent	120	EA	\$143.17	\$17,180.40	N/B	\$0.00	\$116.71	\$14,005.20	\$126.00	\$15,120.00
10	Scabbard side break for 26" baton black, basket weave or ballistic weave, or equivalent	200	EA	\$53.49	\$10,698.00	N/B	\$0.00	\$45.61	\$9,122.00	\$46.00	\$9,200.00
11	Zero9 Holsters kydex full coverage radio holder for Motorola APX Series Portable radio with extended life battery. Must have Tek-Lok buckle , bungee style shock cord retention lanyard, and basketweave finish, or equivalent	100	EA	N/B	\$0.00	N/B	\$0.00	N/R	\$0.00	\$44.00	\$4,400.00
12	Surefire G2X 600 lumen single-output LED black flashlight, or equivalent	100	EA	\$65.35	\$6,535.00	\$68.92	\$6,892.00	\$66.82	\$6,682.00	\$68.00	\$6,800.00
13	Zero9 Holsters Flashlight Case, Item #Z9-4025-BLK-MLK, Must have Tek-Lok buckle , black, or equivalent	100	EA	N/B	\$0.00	N/B	\$0.00	\$26.46	\$2,646.00	\$31.00	\$3,100.00
14	Thyrm Switchback Large 2.0 flashlight ring, black, or equivalent	100	EA	N/B	\$0.00	\$12.89	\$1,289.00	N/B	\$0.00	N/B	\$0.00

z sparti	ments of Corrections, Police Services and Sherm					1		1		1	
				Οι	Armor utlet OS)	lr	Armory, nc. OC)	Supp	Safety ly, Inc. L)	Internat	l Eastern ional, LLC DS)
ITEM #	DESCRIPTION	APP QT	ROX. Y.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
15	Police Badges, Blackinton B-897, Finish: Rhodium on Gold , Enamel Type: Hard, Enamel Strike Solid: No, Lettering Font: Roman Blue, Top Panel: To reflect appropriate rank in ALL CAPS, Top Middle Panel: Gwinnett County, Seal Style: Georgia, Bottom Middle Panel: Police, Bottom Panel: GA, Attachment: Safety Catch , Text Separator: None	125	EA	\$108.27	\$13,533.75	N/B	\$0.00	\$97.54	\$12,192.50	N/B	\$0.00
	Police Badges, Blackinton B-897, Finish: Rhodium on Gold , Enamel Type: Hard, Enamel Strike Solid: No, Lettering Font: Roman Blue, Top Panel: To reflect appropriate rank in ALL CAPS, Top Middle Panel: Gwinnett County, Seal Style: Georgia, Bottom Middle Panel: Police, Bottom Panel: GA, Attachment: Wallet Clip , Text Separator: None	10	EA	\$108.27	\$1,082.70	N/B	\$0.00	\$97.54	\$975.40	N/B	\$0.00
17	Criminal Investigations Section Badges, Blackinton B-897, Finish: Hi-Glo , Enamel Type: Hard, Enamel Strike Solid: No, Lettering Font: Roman Blue, Top Panel: To reflect appropriate rank in ALL CAPS, Top Middle Panel: Gwinnett County, Seal Style: Georgia, Bottom Middle Panel: Police, Bottom Panel: GA, Attachment: Wallet Clip , Text Separator: None	20	EA	\$108.27	\$2,165.40	N/B	\$0.00	\$97.54	\$1,950.80	N/B	\$0.00
18	Criminal Investigations Section (CIS) Badges, Blackinton B-897, Finish: Hi-Glo , Enamel Type: Hard, Enamel Strike Solid: No, Lettering Font: Roman Blue, Top Panel: To reflect appropriate rank in ALL CAPS, Top Middle Panel: Gwinnett County, Seal Style: Georgia, Bottom Middle Panel: Police, Bottom Panel: SIS , Attachment: Wallet Clip , Text Separator: None	20	EA	\$108.27	\$2,165.40	N/B	\$0.00	\$97.54	\$1,950.80	N/B	\$0.00
19	Office of Professional Standards (OPS) Badges, Blackinton B-897, Finish: Hi-Glo , Enamel Type: Hard, Enamel Strike Solid: No, Lettering Font: Roman Blue, Top Panel: To reflect appropriate rank in ALL CAPS, Top Middle Panel: Gwinnett County, Seal Style: Georgia, Bottom Middle Panel: Police, Bottom Panel: OPS , Attachment: Wallet Clip , Text Separator: None	15	EA	\$108.27	\$1,624.05	N/B	\$0.00	\$97.54	\$1,463.10	N/B	\$0.00
20	Safariland model #6360RDS SLS Duty holster with CUBL (Cantable universal belt loop) for Glock 17 equipped with a Surefire X300U / Streamlight TRL1-HL weaponlight, STX tac black basketweave finish. No Hood Guard part #6000 installed 2.25 duty belt	50	EA	\$153.77	\$7,688.50	N/B	\$0.00	N/B	\$0.00	\$154.00	\$7,700.00
21	Safariland model #6378RDS ALS concealment holster for Glock 17 equipped with a Surefire X300U / Streamlight TRL1-HL weaponlight, STX Finetac finish with paddle/belt loop combo. No Hood Guard part #6000,	50	EA	N/B	\$0.00	N/B	\$0.00	N/B	\$0.00	\$88.00	\$4,400.00
22	Safariland 090 Open Top Handcuff case laminate basketweave finish 2.25 inch duty belt.	100	EA	\$25.99	\$2,599.00	N/B	\$0.00	\$28.02	\$2,802.00	\$23.00	\$2,300.00
		CTION A	TOTAL	\$107,	766.70	\$8,1	81.00	\$102,	956.00	\$101	150.00
SECTIO	ON B - SHERIFF										
1	26" expandable baton with foam handle, F26C silver/chrome, or equivalent	50	EA	\$143.17	\$7,158.50	N/B	\$0.00	\$116.71	\$5,835.50	\$126.00	\$6,300.00
2	Scabbard side break for 26" baton black, basket weave or ballistic weave, or equivalent	58	EA	\$53.49	\$3,102.42	N/B	\$0.00	\$45.61	\$2,645.38	\$46.00	\$2,668.00
3	Handcuffs, buff nickel finish, or equivalent	500	EA	\$35.40	\$17,700.00	\$21.93	\$10,965.00	\$21.08	\$10,540.00	N/B	\$0.00
4	Leg irons oversized, Smith & Wesson Model 1900 or equivalent	75	EA	N/B	\$0.00	\$35.25	\$2,643.75	\$37.91	\$2,843.25	N/B	\$0.00
5	Belly chains, Hiatt Model 7077 or equivalent	75	EA	N/B	\$0.00	\$61.00	\$4,575.00	\$22.63	\$1,697.25	N/B	\$0.00
6	Nametags, silver or gold polished finish, clutch backing, ½"H X 2 ¼"W, personalized engraving. Blackinton J5 or equivalent	75	EA	\$10.14	\$760.50	N/B	\$0.00	\$10.82	\$811.50	N/B	\$0.00

Бериге	ments of Corrections, Police Services and Sheriff			Ó.	Armor itlet OS)	, lı	Armory, nc. DC)	Supp	Safety ly, Inc. L)	Internat	l Eastern ional, LLC DS)
ITEM #	DESCRIPTION	APPI QT		UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
7	Duty Belt - 5.11 Tactical Sierra Bravo Duty Belt Kit, Item #59505 or equivalent, Includes Inner Belt And 4 Belt Keepers, water and weather resistant, Molle/5.11 Slickstick Compatible, 1680d Nylon, Dual Retention Belt Keepers, Prym Snaps, Duraflex Hardware, 1.63" Inner Belt, Sizes S – 4XL	500	EA	\$47.50	\$23,750.00	N/B	\$0.00	\$40.26	\$20,130.00	\$52.00	\$26,000.00
8	Belt Keepers - 5.11 Tactical Sierra Bravo 2 1/4" Belt Keepers, Item# 59508 or equivalent, 1680d Nylon Construction, Compression Molded, Abrasion Resistant, Reinforced High Density Interior, Low Rattle Design, Standard Law Enforcement Utility Format, 6 1/4"H X 17"L X 13"W	50	EA	\$10.20	\$510.00	N/B	\$0.00	\$9.27	\$463.50	\$11.00	\$550.00
9	Double Magazine Pouch - Safariland 79 Slimline Open-Top Item #79-83-13 or equivalent, No Flap, Vertical Belt Slots, Plain Black	500	EA	\$22.62	\$11,310.00	N/B	\$0.00	\$32.44	\$16,220.00	\$20.00	\$10,000.00
10	Handcuff Case - Safariland Item #1121721 or equivalent, Plain Black Finish, Top Flap, Sized for Chained/Hinged Handcuffs, Black Snap, Constructed of SafariLaminate Material, designed for 2.25" Duty Belts, Belt Loop Mount	500	EA	\$29.38	\$14,690.00	N/B	\$0.00	\$29.29	\$14,645.00	\$27.00	\$13,500.00
11	Handcuff Case - Safariland Item #1121189 or equivalent, Plain Black Finish, Top Flap, Sized for Chained/Hinged Handcuffs, Black Snap, Constructed of SafariLaminate Material, designed for 2.25" Duty Belts, Belt Loop Mount	500	EA	\$34.52	\$17,260.00	N/B	\$0.00	\$30.09	\$15,045.00	\$27.00	\$13,500.00
12	Glove Pouch - Safariland Item #1098979 or equivalent, can hold Up to 3 pair of gloves, Hook and Loop Closure, Designed for 2.25" Duty Belts, Plain Black, Belt Loop Mount	500	EA	\$19.07	\$9,535.00	N/B	\$0.00	\$26.46	\$13,230.00	\$17.00	\$8,500.00
13	Aerosol Chemical Agent Case - Safariland Item #1121714 or equivalent, STX Plain Black Finish, Black Snap, Belt Loop Mount, Constructed of SafariLaminate Hardshell STX Material, Designed for 2.25" Duty Belts	500	EA	\$24.65	\$12,325.00	N/B	\$0.00	\$26.46	\$13,230.00	\$23.00	\$11,500.00
14	Flashlight - Streamlight Pro Tac HL-X Dual Fuel High Performance Tactical Light with Holster Black Boxed Item #880189 or equivalent, Black, Ten-Tap Programming to Allow User Selectable Programs, C4 Led Illumination Output And Run Times, Minimum Of 65 Lumens Up To Maximum Of 1,000 Lumens, 27,100 Candela, 330m Beam, Runs 1.25 Hours, Anodized Aluminum Construction, Unbreakable Pocket Clip, Anti-Roll Head, Includes Two Cr123a Lithium Batteries And Nylon Holder	500	EA	\$89.10	\$44,550.00	\$77.08	\$38,540.00	\$68.28	\$34,140.00	\$85.00	\$42,500.00
15	Flashlight Case - Streamlight Tactical Flashlight Holster Item #88051 or equivalent, Spring Loaded Interior Wall, Designed for Duty Belts Up to 2.25", Measures 1 3/4"H X 5 1/2"W X 9 1/2"L	500	EA	\$14.18	\$7,090.00	\$13.42	\$6,710.00	\$12.07	\$6,035.00	\$14.00	\$7,000.00
16	Body Armor Outer Carrier - Point Blank International Item # 043019-1 or equivalent, Black, Removable "Sheriff" Id Patches, Top Loading Plate Pocket, Elastic Stretch Side Closure, Internal Cummerbund For Adjustability, Synch Adjusting Shoulder Straps Side Opening Design With Ballistic Overlap, Front And Back Id Panel Attachment Area, Back To Front Adjustable Side Opening, Reinforced "Man Down" Strap, Mic Tabs On Each Shoulder, Available In Laser Cut, Available In Black, Coyote, Od Green, Ranger Green And Multi-Cam	100	EA	N/R	\$0.00	N/B	\$0.00	\$317.67	\$31,767.00	N/B	\$0.00
17	Hinged Handcuffs - Smith & Wesson Universal Hinged Handcuffs Item #350133 or equivalent, Double Lock Slot Configuration, Push-Pin Double Locking Mechanism, Open 25% Larger and Close 25% Smaller	500	EA	N/B	\$0.00	\$36.85	\$18,425.00	\$39.42	\$19,710.00	N/B	\$0.00
18	Tourniquet - North American Rescue Cat Combat Application Tourniquet Nsn#6515-01-521-7976 or equivalent, Gen6 Version, 1 1/2" Constricting Band for Increased Pressure and patient Comfort, Nar's Red Tip Technology with a Red Elliptical Tip to Assist User In Locating And Threading During Application, Reinforced Windlass Clip And High Visibility Security Tab Includes A Writable Area To Record The Time Of Application.	500	EA	\$28.80	\$14,400.00	N/B	\$0.00	\$23.51	\$11,755.00	\$25.00	\$12,500.00

				Óι	Armor Itlet OS)	, lı	Armory, nc. DC)	Supp	Safety ly, Inc. L)	Federal Eastern International, LLC (OS)	
ITEM #	DESCRIPTION		PROX. TY.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
19	Tourniquet Case - Rigid Tourniquet Case For Cat Tourniquet With Molle Clip, Fits Nar C-A-T Tourniquet, Hard sided Case, Can Be Worn On Duty Belt And Molle/Pals Compatible Vest, Injection Molded Nylon Case To Stand Up To Rugged Law Enforcement And Military Usage, Drainage Hole At The Bottom Of The Case, Textured Front Panel, Black With Cross Emblem, Multiple Mounting Positions Including Vertically, Horizontally Or Inverted, Dimensions Of 5"L X 2.5"W X 2.25"H	500	EA	\$26.90	\$13,450.00	N/B	\$0.00	\$30.65	\$15,325.00	\$33.00	\$16,500.00
20	Radio Holders - Black Point or equivalent, Black, Tek-Lok Hardware, Full Kydex Coverage and Pouch Design, Self-Contained Adjustable and Multiple Levels of Retention, Attachment Points Molded into Both Sides of The Pouch, Covered by Accessible Mic Button	500	EA	N/B	\$0.00	\$47.98	\$23,990.00	N/R	\$0.00	N/B	\$0.00
21	Left Hand Duty Holster - Safariland Model 6390rds-832-132 Mid-Ride Level I Retention Duty Holster or equivalent, Hardshell STX Material, STX Tactical Finish, Designed for Firearms with Red Dot Sights Mounted to Them, Features A Low- Ride Belt Loop That Is 1.5" Lower Than Standard, Rides Close to The Body, Suede Lining.	100	EA	\$134.23	\$13,423.00	N/B	\$0.00	\$131.72	\$13,172.00	\$135.00	\$13,500.00
22	Right Hand Duty Holster - Safariland Model 6390rds-832-131 Mid-Ride Level I Retention Duty Holster or equivalent, Hardshell STX Material, STX Tactical Finish, Designed for Firearms with Red Dot Sights Mounted To Them, Features A Low- Ride Belt Loop That Is 1.5" Lower Than Standard, Rides Close To The Body, Suede Lining.	250	EA	\$134.23	\$33,557.50	N/B	\$0.00	\$131.71	\$32,927.50	\$135.00	\$33,750.00
		CTION B	TOTAL	\$244,	571.92	\$105,	848.75	\$282,	167.88	\$218	268.00
SECTION 1	DN C - CORRECTIONS Cordura duty belt with Velcro, sizes S-XL, black 31. Uncle Mike's #8779-1 or equivalent	40	EA	N/B	\$0.00	N/B	\$0.00	\$36.61	\$1,464.40	\$30.00	\$1,200.00
	SE		TOTAL		.00		.00		64.40		00.00
				\$352,	338.62	\$114,	029.75	\$386,	588.28	\$320	618.00
	Will Vendor Hold Pricing Firm? Ren				crease		BD	4.5% Increase		3% In	crease
	Will Vendor Hold Pricing Firm? Rene				crease	TBD		4.5% Increase			crease
	Will Vendor Hold Pricing Firm? Renew			5% In	crease	TBD		4.5% Increase		3% Increase	
	Will Vendor Hold Pricing Firm? Rene	wal Opt	ion Four	5% In	crease	Т	BD	4.5% Increase		3% Increase	

Thyrm Switchback Large 2.0 flashlight ring, black, or equivalent

\$12.20

\$1,350.00

\$1,220.00

N/B

\$0.00

N/B

\$0.00

\$17.99

\$1,799.00

EΑ

\$13.50

100

Page 5 of 13

Departments of Corrections, Police Services and Sheriff

Helgen Industries, Inc. Galls, GT Distributors, INV Tech Jonah's dba Desantis Holster LLC Services, LLC Enterprises, Inc. and Leather Goods (OS) (OS) (OC) (OS) (OS) APPROX. ITEM UNIT UNIT TOTAL UNIT TOTAL UNIT TOTAL UNIT TOTAL TOTAL DESCRIPTION QTY. PRICE Police Badges, Blackinton B-897, Finish: **Rhodium on Gold**, Enamel Type: Hard, Enamel Strike Solid: No, Lettering Font: Roman Blue, Top Panel: To reflect N/B 125 EΑ \$125.00 \$15.625.00 \$0.00 N/B \$0.00 \$98.75 \$12.343.75 \$121.50 \$15.187.50 appropriate rank in ALL CAPS, Top Middle Panel: Gwinnett County, Seal Style: Georgia, Bottom Middle Panel: Police, Bottom Panel: GA, Attachment: Safety Catch, Text Separator: None Police Badges, Blackinton B-897, Finish: Rhodium on Gold, Enamel Type: Hard, Enamel Strike Solid: No, Lettering Font: Roman Blue, Top Panel: To reflect appropriate rank in ALL CAPS, Top Middle Panel: Gwinnett County, Seal Style: 10 EΑ \$125.00 \$1,250.00 N/B \$0.00 N/B \$0.00 \$98.75 \$987.50 \$121.50 \$1,215.00 Georgia, Bottom Middle Panel: Police, Bottom Panel: GA, Attachment: Wallet Clip, Text Separator: None Criminal Investigations Section Badges, Blackinton B-897, Finish: Hi-Glo, Enamel Type: Hard, Enamel Strike Solid: No, Lettering Font: Roman Blue, Top Panel: To reflect appropriate rank in ALL CAPS, Top Middle Panel: Gwinnett County, Seal 20 EΑ \$125.00 \$2,500.00 N/B \$0.00 N/B \$0.00 \$98.75 \$1.975.00 \$114.75 \$2.295.00 Style: Georgia, Bottom Middle Panel: Police, Bottom Panel: GA, Attachment: Wallet Clip, Text Separator: None Criminal Investigations Section (CIS) Badges, Blackinton B-897, Finish: Hi-Glo, Enamel Type: Hard, Enamel Strike Solid: No, Lettering Font: Roman Blue, Top \$1,975.00 Panel: To reflect appropriate rank in ALL CAPS, Top Middle Panel: Gwinnett 20 EΑ \$125.00 \$2,500.00 N/B \$0.00 N/R \$0.00 \$98.75 \$114.75 \$2.295.00 County, Seal Style: Georgia, Bottom Middle Panel: Police, Bottom Panel: SIS, Attachment: Wallet Clip, Text Separator: None Office of Professional Standards (OPS) Badges, Blackinton B-897, Finish: Hi-Glo, Enamel Type: Hard, Enamel Strike Solid: No, Lettering Font: Roman Blue, Top Panel: To reflect appropriate rank in ALL CAPS, Top Middle Panel: Gwinnett \$125.00 \$1.875.00 N/B \$0.00 N/B \$0.00 \$98.75 \$1.481.25 \$114.75 \$1.721.25 15 EΑ County, Seal Style: Georgia, Bottom Middle Panel: Police, Bottom Panel: OPS, Attachment: Wallet Clip. Text Separator: None Safariland model #6360RDS SLS Duty holster with CUBL (Cantable universal belt loop) for Glock 17 equipped with a Surefire X300U / Streamlight TRL1-HL \$147.00 \$7.350.00 \$149.16 \$7.458.00 \$8.200.00 \$187.65 \$9.382.50 50 EΑ N/B \$0.00 \$164.00 weaponlight, STX tac black basketweave finish. No Hood Guard part #6000 installed 2.25 duty belt Safariland model #6378RDS ALS concealment holster for Glock 17 equipped with a Surefire X300U / Streamlight TRL1-HL weaponlight, STX Finetac finish with 50 EΑ \$84.00 \$4.200.00 \$88.88 \$4,444.00 N/B \$0.00 \$96.50 \$4.825.00 \$131.18 \$6.559.00 paddle/belt loop combo. No Hood Guard part #6000, Safariland 090 Open Top Handcuff case laminate basketweave finish 2.25 inch 22 EΑ \$22.00 \$23.48 \$2,348.00 N/R \$25.90 \$2.590.00 100 \$2,200.00 \$0.00 N/R \$0.00 duty belt. **SECTION A TOTAL** \$126,832.75 \$0.00 \$142.326.25 \$107,771.15 \$122,465.00 SECTION B - SHERIFF \$122.00 \$122.05 \$6.102.50 \$126.25 26" expandable baton with foam handle, F26C silver/chrome, or equivalent 50 EΑ \$6.100.00 N/R \$0.00 \$6.312.50 N/R \$0.00 Scabbard side break for 26" baton black, basket weave or ballistic weave, or 2 58 EΑ \$47.00 \$2.644.80 N/B \$47.25 \$2,740.50 \$2,726.00 \$45.60 \$0.00 \$61.20 \$3.549.60 equivalent Handcuffs, buff nickel finish, or equivalent 500 EΑ \$19.25 \$9.625.00 \$23.90 \$11.950.00 N/B \$0.00 \$27.40 \$13,700.00 N/R \$0.00 EΑ 4 eg irons oversized, Smith & Wesson Model 1900 or equivalent 75 \$35.00 \$2.625.00 \$42.01 \$3.150.75 N/B \$0.00 \$47.00 \$3.525.00 \$56.29 \$4.221.75 75 \$61.00 \$4.575.00 \$18.35 \$1,376.25 N/B \$0.00 \$68.10 \$5.107.50 Belly chains, Hiatt Model 7077 or equivalent EΑ N/R \$0.00 Nametags, silver or gold polished finish, clutch backing, ½"H X 2 ¼"W, 75 EΑ \$11.00 \$825.00 N/B \$0.00 N/B \$0.00 \$16.75 \$1,256.25 \$15.21 \$1,140.75 personalized engraving. Blackinton J5 or equivalent

Page 6 of 13

Departments of Corrections, Police Services and Sheriff

Helgen Industries, Inc. Galls, GT Distributors, INV Tech Jonah's dba Desantis Holster LLC Services, LLC Enterprises, Inc. and Leather Goods (OS) (OS) (OC) (OS) (OS) APPROX. ITEM UNIT UNIT TOTAL UNIT TOTAL UNIT TOTAL UNIT TOTAL TOTAL DESCRIPTION QTY. PRICE Duty Belt - 5.11 Tactical Sierra Bravo Duty Belt Kit, Item #59505 or equivalent, Includes Inner Belt And 4 Belt Keepers, water and weather resistant, Molle/5.11 500 EΑ \$41.00 \$20,500.00 N/B \$0.00 N/B \$0.00 \$55.75 \$27,875.00 \$58.50 \$29,250.00 Slickstick Compatible, 1680d Nylon, Dual Retention Belt Keepers, Prym Snaps, Duraflex Hardware, 1.63" Inner Belt, Sizes S - 4XL Belt Keepers - 5.11 Tactical Sierra Bravo 2 1/4" Belt Keepers, Item# 59508 or equivalent, 1680d Nylon Construction, Compression Molded, Abrasion Resistant, 50 EΑ \$10.00 \$500.00 N/B \$0.00 N/B \$0.00 \$19.46 \$973.00 \$15.00 \$750.00 Reinforced High Density Interior, Low Rattle Design, Standard Law Enforcement Utility Format, 6 1/4"H X 17"L X 13"W Double Magazine Pouch - Safariland 79 Slimline Open-Top Item #79-83-13 or 500 EΑ \$17.50 \$8,750.00 \$20.43 \$10,215.00 N/B \$0.00 \$13,175.00 N/R \$0.00 \$26.35 equivalent, No Flap, Vertical Belt Slots, Plain Black Handcuff Case - Safariland Item #1121721 or equivalent, Plain Black Finish, Top EΑ \$24.25 \$27.74 \$13,870.00 \$14,750.00 Flap, Sized for Chained/Hinged Handcuffs, Black Snap, Constructed of 500 \$12,125.00 N/R \$0.00 \$29.50 N/R \$0.00 SafariLaminate Material, designed for 2.25" Duty Belts, Belt Loop Mount Handcuff Case - Safariland Item #1121189 or equivalent, Plain Black Finish, Top Flap, Sized for Chained/Hinged Handcuffs, Black Snap, Constructed of 500 EΑ \$24.25 \$12,125.00 \$27.74 \$13,870.00 N/B \$0.00 \$29.50 \$14,750.00 N/R \$0.00 SafariLaminate Material, designed for 2.25" Duty Belts, Belt Loop Mount Glove Pouch - Safariland Item #1098979 or equivalent, can hold Up to 3 pair of gloves, Hook and Loop Closure, Designed for 2.25" Duty Belts, Plain Black, Belt \$15.25 \$7,625.00 \$17.23 \$8,615.00 N/R \$0.00 \$9,250.00 N/R \$0.00 500 EΑ \$18.50 Aerosol Chemical Agent Case - Safariland Item #1121714 or equivalent, STX \$22.26 Plain Black Finish, Black Snap, Belt Loop Mount, Constructed of SafariLaminate 500 EΑ N/B \$0.00 \$11,130.00 N/R \$0.00 \$23.75 \$11,875.00 N/R \$0.00 Hardshell STX Material, Designed for 2.25" Duty Belts Flashlight - Streamlight Pro Tac HL-X Dual Fuel High Performance Tactical Light with Holster Black Boxed Item #880189 or equivalent, Black, Ten-Tap Programming to Allow User Selectable Programs, C4 Led Illumination Output And Run Times, Minimum Of 65 Lumens Up To Maximum Of 1,000 Lumens, 27,100 500 EΑ \$85.00 \$42,500.00 \$87.63 \$43,815.00 N/B \$0.00 \$88.00 \$44,000.00 \$98.36 \$49,180.00 Candela, 330m Beam, Runs 1.25 Hours, Anodized Aluminum Construction, Unbreakable Pocket Clip. Anti-Roll Head. Includes Two Cr123a Lithium Batteries Flashlight Case - Streamlight Tactical Flashlight Holster Item #88051 or equivalent, Spring Loaded Interior Wall, Designed for Duty Belts Up to 2.25", 500 EΑ \$13.50 \$6.750.00 \$13.26 \$6.630.00 N/R \$0.00 \$18.00 \$9.000.00 \$18.49 \$9,245.00 Measures 1 3/4"H X 5 1/2"W X 9 1/2"L Body Armor Outer Carrier - Point Blank International Item # 043019-1 or equivalent, Black, Removable "Sheriff" Id Patches, Top Loading Plate Pocket, Elastic Stretch Side Closure, Internal Cummerbund For Adjustability, Synch \$1,975.13 \$197,513.00 Adjusting Shoulder Straps Side Opening Design With Ballistic Overlap, Front And 100 EΑ \$430.00 \$43,000.00 N/B \$0.00 N/B \$0.00 N/B \$0.00 Back Id Panel Attachment Area, Back To Front Adjustable Side Opening. Reinforced "Man Down" Strap, Mic Tabs On Each Shoulder, Available In Laser Cut, Available In Black, Coyote, Od Green, Ranger Green And Multi-Cam Hinged Handcuffs - Smith & Wesson Universal Hinged Handcuffs Item #350133 or equivalent, Double Lock Slot Configuration, Push-Pin Double Locking \$18,000.00 \$34.15 \$17,075.00 500 EΑ \$36.00 N/B \$0.00 \$44.00 \$22,000.00 N/R \$0.00 Mechanism, Open 25% Larger and Close 25% Smaller Tourniquet - North American Rescue Cat Combat Application Tourniquet Nsn#6515-01-521-7976 or equivalent, Gen6 Version, 1 1/2" Constricting Band for Increased Pressure and patient Comfort, Nar's Red Tip Technology with a Red 500 EΑ \$25.00 \$12.500.00 \$25.21 \$12,605.00 N/B \$0.00 \$33.00 \$16.500.00 \$28.11 \$14.055.00 Elliptical Tip to Assist User In Locating And Threading During Application, Reinforced Windlass Clip And High Visibility Security Tab Includes A Writable Area To Record The Time Of Application.

Page 7 of 13

BL024-23 Purchase of Law Enforcement Duty Gear on an Annual Contract Departments of Corrections, Police Services and Sheriff

				Galls, LLC (OS)		GT Distributors, Inc. (OS)		Helgen Industries, Inc. dba Desantis Holster and Leather Goods (OS)		INV Tech Services, LLC (OC)		Jonah's Enterprises, Inc. (OS)	
ITEM #	DESCRIPTION	APPI QT	-	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
19	Tourniquet Case - Rigid Tourniquet Case For Cat Tourniquet With Molle Clip, Fits Nar C-A-T Tourniquet, Hard sided Case, Can Be Worn On Duty Belt And Molle/Pals Compatible Vest, Injection Molded Nylon Case To Stand Up To Rugged Law Enforcement And Military Usage, Drainage Hole At The Bottom Of The Case, Textured Front Panel, Black With Cross Emblem, Multiple Mounting Positions Including Vertically, Horizontally Or Inverted, Dimensions Of 5"L X 2.5"W X 2.25"H	500	EA	\$28.00	\$14,000.00	\$32.89	\$16,445.00	N/B	\$0.00	\$40.00	\$20,000.00	\$39.99	\$19,995.00
20	Radio Holders - Black Point or equivalent, Black, Tek-Lok Hardware, Full Kydex Coverage and Pouch Design, Self-Contained Adjustable and Multiple Levels of Retention, Attachment Points Molded into Both Sides of The Pouch, Covered by Accessible Mic Button	500	EA	N/B	\$0.00	N/B	\$0.00	N/B	\$0.00	N/B	\$0.00	N/R	\$0.00
21	Left Hand Duty Holster - Safariland Model 6390rds-832-132 Mid-Ride Level I Retention Duty Holster or equivalent, Hardshell STX Material, STX Tactical Finish, Designed for Firearms with Red Dot Sights Mounted to Them, Features A Low-Ride Belt Loop That Is 1.5" Lower Than Standard, Rides Close to The Body, Suede Lining.	100	EA	\$147.00	\$14,700.00	\$150.38	\$15,038.00	N/B	\$0.00	\$133.00	\$13,300.00	\$163.80	\$16,380.00
22	Right Hand Duty Holster - Safariland Model 6390rds-832-131 Mid-Ride Level I Retention Duty Holster or equivalent, Hardshell STX Material, STX Tactical Finish, Designed for Firearms with Red Dot Sights Mounted To Them, Features A Low- Ride Belt Loop That Is 1.5" Lower Than Standard, Rides Close To The Body, Suede Lining.	250	EA	\$147.00	\$36,750.00		\$22,220.00	N/B	\$0.00	\$133.00	\$33,250.00	\$163.80	\$40,950.00
		CTION B	TOTAL	\$276,	301.00	\$216,	752.30	\$0	.00	\$283,	339.75	\$386	,230.10
SECTION 1	ON C - CORRECTIONS Cordura duty belt with Velcro, sizes S-XL, black 31. Uncle Mike's #8779-1 or equivalent	40	EA	\$24.50	\$980.00	\$27.40	\$1,096.00	\$20.00	\$800.00	\$29.50	\$1,180.00	\$49.91	\$1,996.40
	SECTION C TOT.				0.00	, ,	96.00		0.00		80.00		96.40
	BID TOTAL		IUTAL	,	113.75	\$325,	619.45	\$80	0.00	\$406,	984.75	\$530	,552.75
	Will Vendor Hold Pricing Firm? Renewal Option On		ion One	С	e or Current Pl e or Current	10% Ir	ncrease	3% In	crease	10% lr	ncrease	8% Ir	icrease
	Will Vendor Hold Pricing Firm? Renewal Option Tw			С	PI e or Current		ncrease	3% Increase		10% Increase			icrease
	Will Vendor Hold Pricing Firm? Renewal Option Th			С	PI e or Current		ncrease	3% Increase		10% Increase		8% Increase	
	Will Vendor Hold Pricing Firm? Rene	wal Opti	on Four		Pl	10% lr	ncrease	3% In	crease	10% lr	ncrease	8% Increase	

Page 8 of 13

				Suppl	y, Inc.		nry Arms, LLC (OS)	Safety Products, Inc. (OS)		Smyrna Police Distributors (OC)		USIQ, Inc. (OS)	
ITEM #	DESCRIPTION		ROX. TY.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
SECTION	ON A - POLICE												
1	Safariland model 94 Leather Laminate Police gun belt, basketweave <u>without</u> <u>buckle</u> or equivalent	200	EA	N/B	\$0.00	N/B	\$0.00	N/B	\$0.00	\$59.00	\$11,800.00	N/B	\$0.00
2	Safariland model 90 Laminate handcuff case, basketweave, hidden snaps or equivalent	115	EA	N/B	\$0.00	N/B	\$0.00	N/B	\$0.00	\$25.71	\$2,956.65	N/B	\$0.00
3	Safariland model 62 Leather one (1) inch belt keepers DOT snaps, set of four (4) basketweave, hidden snaps or equivalent	160	EA	N/B	\$0.00	N/B	\$0.00	N/B	\$0.00	\$20.83	\$3,332.80	N/B	\$0.00
4	Laminate black glove pouch, basket weave, or equivalent	125	EA	N/B	\$0.00	N/B	\$0.00	N/B	\$0.00	\$18.76	\$2,345.00	N/R	\$0.00
5	Safariland model 99 Leather black basket weave trouser inner belt without buckle, Sizes 24-58, or equivalent	215	EA	N/B	\$0.00	N/B	\$0.00	N/B	\$0.00	\$30.59	\$6,576.85	N/B	\$0.00
6	Safariland model #6360 SLS Duty holster with Cantable universal belt loop for Glock 17 equipped with a Surefire X300U / Streamlight TRL1-HL weaponlight, STX tac black basketweave finish with ALS Guard part #6006 installed, No hood guard part #6000, 2.25 inch duty belt, or equivalent	100	EA	N/B	\$0.00	N/B	\$0.00	N/B	\$0.00	\$122.75	\$12,275.00	N/B	\$0.00
7	Zero9 Holsters Traditional 9/40 Double Mag Case for Glock 17, double magazine pouch, Must have Tek-Lok buckle , basket weave, Item #Z9-4027-BW-TEK, or equivalent	100	EA	N/B	\$0.00	N/B	\$0.00	N/B	\$0.00	\$37.54	\$3,754.00	N/B	\$0.00
8	Safariland model #6378 ALS concealment holster for Glock 17 equipped with a Surefire X300U / Streamlight TLR1-HL weaponlight, STX Finetac finish with paddle/belt loop combo, No hood guard part #6000, or equivalent	100	EA	N/B	\$0.00	N/B	\$0.00	N/B	\$0.00	\$82.88	\$8,288.00	N/B	\$0.00
9	26" expandable baton with foam handle, F26C silver/chrome, or equivalent	120	EA	N/B	\$0.00	\$121.33	\$14,559.60	N/B	\$0.00	\$114.83	\$13,779.60	\$111.52	\$13,382.4
10	Scabbard side break for 26" baton black, basket weave or ballistic weave, or equivalent	200	EA	N/B	\$0.00	\$45.33	\$9,066.00	N/B	\$0.00	\$47.17	\$9,434.00	\$54.73	\$10,946.00
11	Zero9 Holsters kydex full coverage radio holder for Motorola APX Series Portable radio with extended life battery. Must have Tek-Lok buckle , bungee style shock cord retention lanyard, and basketweave finish, or equivalent	100	EA	N/B	\$0.00	N/B	\$0.00	N/B	\$0.00	N/R	\$0.00	N/B	\$0.00
12	Surefire G2X 600 lumen single-output LED black flashlight, or equivalent	100	EA	\$65.04	\$6,504.00	\$60.09	\$6,009.00	N/B	\$0.00	\$57.75	\$5,775.00	\$68.29	\$6,829.00
13	Zero9 Holsters Flashlight Case, Item #Z9-4025-BLK-MLK, Must have Tek-Lok buckle , black, or equivalent	100	EA	N/B	\$0.00	N/B	\$0.00	N/B	\$0.00	\$28.13	\$2,813.00	N/B	\$0.00
14	Thyrm Switchback Large 2.0 flashlight ring, black, or equivalent	100	EA	N/B	\$0.00	N/B	\$0.00	N/B	\$0.00	N/B	\$0.00	N/B	\$0.00

Page 9 of 13

Departments of Corrections, Police Services and Sheriff

Lawmen's & Shooters' Primary Arms, Smyrna Police USIQ. Safety Products, Inc. LLC Distributors Supply, Inc. Inc. (OS) (OS) (OS) (OC) (OS) APPROX. ITEM UNIT UNIT TOTAL UNIT TOTAL UNIT TOTAL UNIT TOTAL TOTAL DESCRIPTION QTY. PRICE Police Badges, Blackinton B-897, Finish: **Rhodium on Gold**, Enamel Type: Hard, Enamel Strike Solid: No, Lettering Font: Roman Blue, Top Panel: To reflect \$11.625.0 \$12,742.50 N/B 125 EΑ \$93.00 \$101.94 \$0.00 \$102.57 \$12.821.25 N/B \$0.00 appropriate rank in ALL CAPS, Top Middle Panel: Gwinnett County, Seal Style: Georgia, Bottom Middle Panel: Police, Bottom Panel: GA, Attachment: Safety Catch, Text Separator: None Police Badges, Blackinton B-897, Finish: Rhodium on Gold, Enamel Type: Hard, Enamel Strike Solid: No, Lettering Font: Roman Blue, Top Panel: To reflect \$930.00 \$101.94 \$1,025.70 appropriate rank in ALL CAPS, Top Middle Panel: Gwinnett County, Seal Style: 10 EΑ \$93.00 \$1,019.40 N/B \$0.00 \$102.57 N/B \$0.00 Georgia, Bottom Middle Panel: Police, Bottom Panel: GA, Attachment: Wallet Clip, Text Separator: None Criminal Investigations Section Badges, Blackinton B-897, Finish: Hi-Glo, Enamel Type: Hard, Enamel Strike Solid: No, Lettering Font: Roman Blue, Top Panel: To reflect appropriate rank in ALL CAPS, Top Middle Panel: Gwinnett County, Seal 20 EΑ \$93.00 \$1.860.00 \$101.94 \$2.038.80 N/B \$0.00 \$102.57 \$2.051.40 N/B \$0.00 Style: Georgia, Bottom Middle Panel: Police, Bottom Panel: GA, Attachment: Wallet Clip, Text Separator: None Criminal Investigations Section (CIS) Badges, Blackinton B-897, Finish: Hi-Glo, Enamel Type: Hard, Enamel Strike Solid: No, Lettering Font: Roman Blue, Top Panel: To reflect appropriate rank in ALL CAPS, Top Middle Panel: Gwinnett 20 EΑ \$93.00 \$1.860.00 \$101.94 \$2.038.80 N/B \$0.00 \$102.57 \$2,051.40 N/B \$0.00 County, Seal Style: Georgia, Bottom Middle Panel: Police, Bottom Panel: SIS, Attachment: Wallet Clip, Text Separator: None Office of Professional Standards (OPS) Badges, Blackinton B-897, Finish: Hi-Glo, Enamel Type: Hard, Enamel Strike Solid: No, Lettering Font: Roman Blue, Top Panel: To reflect appropriate rank in ALL CAPS, Top Middle Panel: Gwinnett \$93.00 \$1.395.00 \$101.94 \$1.529.10 N/B \$102.57 \$1.538.55 N/B \$0.00 15 EΑ \$0.00 County, Seal Style: Georgia, Bottom Middle Panel: Police, Bottom Panel: OPS, Attachment: Wallet Clip. Text Separator: None Safariland model #6360RDS SLS Duty holster with CUBL (Cantable universal belt loop) for Glock 17 equipped with a Surefire X300U / Streamlight TRL1-HL \$0.00 \$122.75 \$6.137.50 50 EΑ N/B \$0.00 N/B N/B \$0.00 N/B \$0.00 weaponlight, STX tac black basketweave finish. No Hood Guard part #6000 installed 2.25 duty belt Safariland model #6378RDS ALS concealment holster for Glock 17 equipped with a Surefire X300U / Streamlight TRL1-HL weaponlight, STX Finetac finish with 50 EΑ N/B \$0.00 N/B \$0.00 N/B \$0.00 \$82.88 \$4.144.00 N/B \$0.00 paddle/belt loop combo. No Hood Guard part #6000, Safariland 090 Open Top Handcuff case laminate basketweave finish 2.25 inch 22 EΑ N/B \$2,725.00 100 N/R \$0.00 N/B \$0.00 \$0.00 \$27.25 N/B \$0.00 duty belt. **SECTION A TOTAL** \$24,174.00 \$115,624.70 \$31,157.40 \$49,003.20 \$0.00 SECTION B - SHERIFF N/B \$114.83 \$5.741.50 \$111.52 \$5,576.00 26" expandable baton with foam handle, F26C silver/chrome, or equivalent 50 EΑ N/B \$0.00 \$121.33 \$6,066.50 \$0.00 Scabbard side break for 26" baton black, basket weave or ballistic weave, or 2 58 \$45.33 \$2.629.14 N/B \$47.17 \$2.735.86 \$54.73 \$3.174.34 EΑ N/B \$0.00 \$0.00 equivalent Handcuffs, buff nickel finish, or equivalent 500 EΑ N/B \$0.00 N/B \$0.00 N/B \$0.00 \$26.30 \$13.150.00 \$22.17 \$11.085.00 4 eg irons oversized, Smith & Wesson Model 1900 or equivalent 75 EΑ N/B \$0.00 \$37.12 \$2,784.00 N/B \$0.00 \$43.65 \$3.273.75 \$116.15 \$8.711.25 75 N/B \$0.00 N/B \$62.95 \$4.721.25 \$71.54 \$5,365.50 Belly chains, Hiatt Model 7077 or equivalent EΑ \$0.00 N/B \$0.00 Nametags, silver or gold polished finish, clutch backing, ½"H X 2 ¼"W, 75 EΑ \$14.66 \$1,099.50 \$19.20 \$1,440.00 N/B \$0.00 \$13.45 \$1,008.75 N/B \$0.00 personalized engraving. Blackinton J5 or equivalent

Page 10 of 13

Page 11 of 13

			Supp	& Shooters' ly, Inc. JS)	1	ary Arms, LLC (OS)	Safety Products, Inc. (OS)		Smyrna Police Distributors (OC)			ISIQ, Inc. (OS)	
ITEM #	DESCRIPTION		ROX. TY.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
7	Duty Belt - 5.11 Tactical Sierra Bravo Duty Belt Kit, Item #59505 or equivalent, Includes Inner Belt And 4 Belt Keepers, water and weather resistant, Molle/5.11 Slickstick Compatible, 1680d Nylon, Dual Retention Belt Keepers, Prym Snaps, Duraflex Hardware, 1.63" Inner Belt, Sizes S – 4XL	500	EA	N/B	\$0.00	\$50.57	\$25,285.00	N/B	\$0.00	\$46.25	\$23,125.00	N/B	\$0.00
8	Belt Keepers - 5.11 Tactical Sierra Bravo 2 1/4" Belt Keepers, Item# 59508 or equivalent, 1680d Nylon Construction, Compression Molded, Abrasion Resistant, Reinforced High Density Interior, Low Rattle Design, Standard Law Enforcement Utility Format, 6 1/4"H X 17"L X 13"W	50	EA	N/B	\$0.00	\$10.52	\$526.00	N/B	\$0.00	\$12.00	\$600.00	N/B	\$0.00
9	Double Magazine Pouch - Safariland 79 Slimline Open-Top Item #79-83-13 or equivalent, No Flap, Vertical Belt Slots, Plain Black	500	EA	N/B	\$0.00	N/B	\$0.00	N/B	\$0.00	\$26.71	\$13,355.00	N/B	\$0.00
10	Handcuff Case - Safariland Item #1121721 or equivalent, Plain Black Finish, Top Flap, Sized for Chained/Hinged Handcuffs, Black Snap, Constructed of SafariLaminate Material, designed for 2.25" Duty Belts, Belt Loop Mount	500	EA	N/B	\$0.00	N/B	\$0.00	N/B	\$0.00	\$26.71	\$13,355.00	N/B	\$0.00
11	Handcuff Case - Safariland Item #1121189 or equivalent, Plain Black Finish, Top Flap, Sized for Chained/Hinged Handcuffs, Black Snap, Constructed of SafariLaminate Material, designed for 2.25" Duty Belts, Belt Loop Mount	500	EA	N/B	\$0.00	N/B	\$0.00	N/B	\$0.00	\$26.71	\$13,355.00	N/B	\$0.00
12	Glove Pouch - Safariland Item #1098979 or equivalent, can hold Up to 3 pair of gloves, Hook and Loop Closure, Designed for 2.25" Duty Belts, Plain Black, Belt Loop Mount	500	EA	N/B	\$0.00	N/B	\$0.00	N/B	\$0.00	\$18.76	\$9,380.00	N/B	\$0.00
13	Aerosol Chemical Agent Case - Safariland Item #1121714 or equivalent, STX Plain Black Finish, Black Snap, Belt Loop Mount, Constructed of SafariLaminate Hardshell STX Material, Designed for 2.25" Duty Belts	500	EA	N/B	\$0.00	N/B	\$0.00	N/B	\$0.00	\$24.75	\$12,375.00	N/B	\$0.00
14	Flashlight - Streamlight Pro Tac HL-X Dual Fuel High Performance Tactical Light with Holster Black Boxed Item #880189 or equivalent, Black, Ten-Tap Programming to Allow User Selectable Programs, C4 Led Illumination Output And Run Times, Minimum Of 65 Lumens Up To Maximum Of 1,000 Lumens, 27,100 Candela, 330m Beam, Runs 1.25 Hours, Anodized Aluminum Construction, Unbreakable Pocket Clip, Anti-Roll Head, Includes Two Cr123a Lithium Batteries And Nylon Holder	500	EA	N/B	\$0.00	\$66.34	\$33,170.00	\$79.40	\$39,700.00	\$81.68	\$40,840.00	\$76.70	\$38,350.00
15	Flashlight Case - Streamlight Tactical Flashlight Holster Item #88051 or equivalent, Spring Loaded Interior Wall, Designed for Duty Belts Up to 2.25", Measures 1 3/4"H X 5 1/2"W X 9 1/2"L	500	EA	N/B	\$0.00	\$12.65	\$6,325.00	\$12.30	\$6,150.00	\$17.04	\$8,520.00	\$12.88	\$6,440.00
16	Body Armor Outer Carrier - Point Blank International Item # 043019-1 or equivalent, Black, Removable "Sheriff" Id Patches, Top Loading Plate Pocket, Elastic Stretch Side Closure, Internal Cummerbund For Adjustability, Synch Adjusting Shoulder Straps Side Opening Design With Ballistic Overlap, Front And Back Id Panel Attachment Area, Back To Front Adjustable Side Opening, Reinforced "Man Down" Strap, Mic Tabs On Each Shoulder, Available In Laser Cut, Available In Black, Coyote, Od Green, Ranger Green And Multi-Cam	100	EA	N/B	\$0.00	\$396.83	\$39,683.00	N/B	\$0.00	N/B	\$0.00	N/B	\$0.00
17	Hinged Handcuffs - Smith & Wesson Universal Hinged Handcuffs Item #350133 or equivalent, Double Lock Slot Configuration, Push-Pin Double Locking Mechanism, Open 25% Larger and Close 25% Smaller	500	EA	N/B	\$0.00	\$38.64	\$19,320.00	N/B	\$0.00	\$36.45	\$18,225.00	\$41.36	\$20,680.00
18	Tourniquet - North American Rescue Cat Combat Application Tourniquet Nsn#6515-01-521-7976 or equivalent, Gen6 Version, 1 1/2" Constricting Band for Increased Pressure and patient Comfort, Nar's Red Tip Technology with a Red Elliptical Tip to Assist User In Locating And Threading During Application, Reinforced Windlass Clip And High Visibility Security Tab Includes A Writable Area To Record The Time Of Application.	500	EA	\$28.51	\$14,255.00	\$23.60	\$11,800.00	N/B	\$0.00	N/B	\$0.00	\$28.39	\$14,195.00

			Supp	& Shooters' oly, Inc. OS)	Primary Arms, LLC (OS)		Safety Products, Inc. (OS)		Smyrna Police Distributors (OC)		USIQ, Inc. (OS)	
ITEM #	DESCRIPTION	APPROX. QTY.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
19	Tourniquet Case - Rigid Tourniquet Case For Cat Tourniquet With Molle Clip, Fits Nar C-A-T Tourniquet, Hard sided Case, Can Be Worn On Duty Belt And Molle/Pals Compatible Vest, Injection Molded Nylon Case To Stand Up To Rugged Law Enforcement And Military Usage, Drainage Hole At The Bottom Of The Case, Textured Front Panel, Black With Cross Emblem, Multiple Mounting Positions Including Vertically, Horizontally Or Inverted, Dimensions Of 5"L X 2.5"W X 2.25"H	500 EA	\$31.34	\$15,670.00	\$29.97	\$14,985.00	N/B	\$0.00	N/B	\$0.00	\$39.87	\$19,935.00
20	Radio Holders - Black Point or equivalent, Black, Tek-Lok Hardware, Full Kydex Coverage and Pouch Design, Self-Contained Adjustable and Multiple Levels of Retention, Attachment Points Molded into Both Sides of The Pouch, Covered by Accessible Mic Button	500 EA	N/B	\$0.00	N/B	\$0.00	N/B	\$0.00	N/B	\$0.00	N/B	\$0.00
21	Left Hand Duty Holster - Safariland Model 6390rds-832-132 Mid-Ride Level I Retention Duty Holster or equivalent, Hardshell STX Material, STX Tactical Finish, Designed for Firearms with Red Dot Sights Mounted to Them, Features A Low-Ride Belt Loop That Is 1.5" Lower Than Standard, Rides Close to The Body, Suede Lining.	100 EA	N/B	\$0.00	N/B	\$0.00	N/B	\$0.00	\$112.56	\$11,256.00	N/B	\$0.00
22	Right Hand Duty Holster - Safariland Model 6390rds-832-131 Mid-Ride Level I Retention Duty Holster or equivalent, Hardshell STX Material, STX Tactical Finish, Designed for Firearms with Red Dot Sights Mounted To Them, Features A Low- Ride Belt Loop That Is 1.5" Lower Than Standard, Rides Close To The Body, Suede Lining.	250 EA	N/B	\$0.00	N/B	\$0.00	N/B	\$0.00		\$28,140.00	N/B	\$0.00
		CTION B TOTA	L \$31,	024.50	\$164	4,013.64	\$45	,850.00	\$223	,157.11	\$133	3,512.09
SECTION 1	ON C - CORRECTIONS Cordura duty belt with Velcro, sizes S-XL, black 31. Uncle Mike's #8779-1 or equivalent	40 EA	\$24.49	\$979.60	N/B	\$0.00	N/B	\$0.00	\$32.00	\$1,280.00	\$29.23	\$1,169.20
	SEC	CTION C TOTA		79.60 178.10		3.016.84		0.00		280.00).061.81		169.20 5,838.69
	Will Vendor Hold Pricing Firm? Renewal Option One		1	Increase		ncrease	\$45,850.00 TBD		, , ,	ncrease		ncrease
	Will Vendor Hold Pricing Firm? Renewal Option Two			Increase	3% Increase		TBD		8% Increase		7% I	ncrease
	Will Vendor Hold Pricing Firm? Renewal Option Three			Increase .	3% Increase		TBD		10% Increase		7% Increase	
	Will Vendor Hold Pricing Firm? Rene	wal Option Fo	ur 5-10%	Increase	3% I	ncrease		TBD	10% Increase		7% li	ncrease

Page 12 of 13

Recommended Vendors:

Body Armor Outlet
Attn: Chris Lizotte
26 Ermer Road
Salem, NH 03079
Phone: 603-567-4503
chris@bodyarmoroutlet.com

Clyde Armory, Inc.
Attn: Robert Ford
4800 Atlanta Hwy
Athens, GA 30606
Phone: 706-549-1842
robert@clydearmory.com

Dana Safety Supply, Inc. Attn: Christopher Rocha 4729 Nelson Brogdon Blvd. Sugar Hill, GA 30518 Phone: 813-348-4866 bids@danasafetysupply.com

Federal Eastern International, LLC Attn: Thomas M. Anthony 1523 Chaffee Road South, Unit 12 Jacksonville, FL 33716 Phone: 706-304-5170

manthonny@fedeastintl.com

Galls, LLC
Attn: Dustin McDulin
1340 Russell Cave Rd.
Lexington, KY 40505
Phone: 800-477-7766
bidreview@galls.com

GT Distributors, Inc.
Attn: David Curtis
1124 New Meister Lane, Suite 100
Pflugerville, TX 78660-6937
Phone: 512-451-8298
txbids@gtdist.com

Helen Industries, Inc. dba DeSantis Holsters and Leather Goods Attn: Barbara Goodman 431 Bayview Avenue Amityville, NY 11701

Phone: 631-841-6300 ext. 127 b.goodman@desantisholster.com

Lawmen's & Shooters' Supply, Inc.

Attn: Gail Walker-Keen
701 Columbia Boulevard
Titusville, FL 32780
Phone: 321-360-3038
bids@lawmens.net

Primary Arms, LLC Attn: Jasmine Johnson

3219 South Sam Houston Pkwy East

Houston, TX 77047 Phone: 713-570-0499

jjohnson@primaryarms.com

Smyrna Police Distributors

Attn: Ronda Jacobs 2295 South Cobb Dr. Smyrna, GA 30080 Phone: 770-434-1986 rondajacobs@spdist.com

USIQ, Inc.

Attn: Mark Levitin 3150 Commercial Ave. Northbrook, IL 60062 Phone: 888-882-8747 registrations@usig.com